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2) Write the following in expanded form and then evaluate.

D F 233333 o (2] ()

=243 _
176y 9
O (3 = (-3)(—3)(—3)(-3) D 3 - 2223
g -9l
9 (-DRDEZ) 0w =
_ 8l
>
9 @ - (2DEN2) (@) - (2)(2)
- W) .
B

=6y

e



Exnnnentlal Laws #2

1) Please write the followmg as a single power using the exponent laws, remember to NOT leave
any negative exponents or decimals. Do NOT evaluate.
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2) Evaluate the following, do NOT leave decimals answers, leave them in fraction form.
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Exponential Laws #3

1) Please write the following as a single power using the exponent laws, remember to NOT leave

any negative exponents or decimals. Do NOT evaluate.
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